
 

 

     

           SAI EDUCATION TEAM 

            MODEL QUESTION  PAPER (ENGLISH) 

 

 

1. Complete the series: 81,69,58,48,39, …… 

[a] 22  [b] 30 

[c] 31👈🏼 [d] 12 

 

2. The average age of 29 boys in a class is 14 years. 

When the age of the class teacher is included, the 

average becomes 15 years. The age of the class 

teacher is: 

[a] 44👈🏼  [b] 42 

[c] 46                 [d] 40 

 

3. Select the odd one: 

[a] Knife   [b] Sword 

[c] Hammer👈🏼  [d] Blade 

 

4. Complete the series: Z,U,Q,?,L 

[a] I  [b] K 

[c] M  [d] N👈🏼 

 

5. The only number that is the perimeter and area of 

same square: 

[a] 16👈🏼  [b] 4 

[c] 80   [d] 20 

 

6. A man travels from A to B at a speed of 60kmph 

and back of a speed 40kmph. The distance between 

A and B is 120km. The average speed of the journey 

is (in kmph) 

[a] 52   [b] 50 

[c] 48👈🏼  [d] 45 

 

7. An amount of Rs.2500 is deposited at 12% interest 

rate. The amount received after one year is: 

[a] Rs.2800  👈🏼   [b] Rs.2600 

[c] Rs.3000   [d] Rs.2900 

 

8. A mother is 5 times as old as her daughter.In 15 

years she will be will be twice as old. How old the 

mother at present? 

[a] 20    [b] 25👈🏼 

[c] 30    [d] 35 

 

9. He asked whether such a thing was possible. The 

direct form of the sentence is: 

[a] He asked “is such a thing possible?”  👈🏼 

[b] He asked “was such a thing possible?” 

[c] He said “will such a thing be possible?” 

[d] He said “whether such thing was possible 

 

10. I haven’t __ friends here. 

[a] many 👈🏼   [b] some 

[c] a few    [d] few 

 

11.One who believes that everything is predestined: 

[a] Optimist   [b] Fatalist   

[c] Palmist   [d] Pedant 

 

12. He came in looking as if he (see) a ghost (Use the 

correct form of verb given in bracket) 

[a] saw    [b] seen 

[c] had seen👈🏼   [d] has seen 

 

13. I shall inform you as soon as he __ (arrive) here 

(Use the correct form of verb given in bracket): 

[a] will arrive   [b] is arriving 

[c] will be arrived   [d] arrives   

 

14.Gooseberry - എന്നതിനു സമാനമായ 

മലയാളശൈലി 
[a] ഇലവുകാത്ത കിളി 
[b] സവർഗത്തിലല കട്ടുറുമ്പ്   

[c] ആലത്തൂർ കാക്ക 

[d] ഇലലലത്ത പൂച്ച 



 

 

 15. നാഗം എന്നാൽ പാമ്പ്, നാകം എന്നാൽ 

? 

[a] ലലാഹം 👈🏼  [b] ഇരുമ്പഴി 
[c] സവർഗം 👈🏼  [d] പാതാളം 

 

16. The Hindu Succession Act passed in the year : 

[a] 1959    [b] 1958 

[c] 1957    [d] 1956👈🏼 

 

17.  Part XVIII (18th) of Indian Constitution contains : 

[a] Fundamental duties  

[b] Emergency provisions  👈🏼  

[c] Municipalities 

[d] Panchayats 

 

18. The Article 112 of Indian Constitution deals with 

[a] Abolition of untouchability 

[b] The Budget   👈🏼 

[c] Abolition of child labour 

[d] Formation of Panchayat 

 

19. The President can dismiss a member of the 

Council of Ministers 

[a] On his own 

[b] With the consent of the Speaker 

[c] On recommendating the Prime Minister  👈🏼 

[d] Only under emergency conditions 

 

20. The National Anthem was first sung in the year ? 

[a] 1930   [b] 1911👈🏼 

[c] 1935   [d] 1947 

 

21. What is known as Kalbaisakhi? 

[a] Cold wind  [b] Storm 👈🏼 

[c] Dry wind    [d] Cyclone 

 

22. A tributary of Krishna River : 

[a] Musi   👈🏼   [b] Kolar 

[c] Sabari   [d] Jonk 

 

 

23. The first digital Panchayath in Kerala is 

[a] Puthenvelikara [b] Parakkadavu 

[c] Palakuzha  [d] Pambakkuda  👈🏼 

 

 

 

24. 'Sleep' in computers refers to 

[a] Restart the computers in safe mode 

[b] Restart the computers in normal mode 

[c] Shutdown the computer terminating all the 

running applications 

[d] Shutdown the computer without closing the 

running applications  👈🏼 

 

25.  Who are the founders of Whatsapp ? 

[a] Brian Acton and Tim Cook 

[b] Brian Acton and Mark Zuckerberg 

[c] Brian Acton and Jan Koum  👈🏼 

[d] Jan Koum and Tim Cook 

 


